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HINTS & SOLUTIONS 
 
1-5. The correct sequence is DEBAFC  
1.(4)   2.(4) 
3.(2)   4.(5)   5.(3) 
6.(1) Core means the part of something that is central to its 

existence or character.  
7.(3) 
8.(4) Philosophical means relating or devoted to the study of 

the fundamental nature of knowledge, reality, and 
existence.  

9.(3) quest means a long or arduous search for something.  
10.(5) 
11.(4) Substitute ‘in a state of confusion’ for ‘in state of confused'.  
12.(3) Delete ‘of’ because despite doesn’t take ‘of’ with it.  
13.(3) ‘Both’ takes ‘and’ not ‘as well as’.  
14.(1) Insert ‘of’ after ‘worthy’.  
15.(4) Substitute ‘in’ for ‘with’.  
16.(1) Abhiram didn’t meditate to have prosperity; he refused to 

sell the painting to the boy because the boy was the son 
of the new royal minister who had stolen Abhiram’s 
father’s fortune; and it is not mentioned that Abhiram 

had been a business man once .So all the options cannot 
be said about Abhiram.  

17.(4) Read the 1st two sentences of the paragraph 3 ,“This was 
the only form of worship known to him”.  

18.(1) I and II are not true in context of the passage; (III) is, as 
evident from paragraphs 1 and 2.  

19.(4) When Abhiram refused to sell his painting that only made 
the child want the picture even more and hence he sent a 
bagful of coins.  

20.(3) He fell tormented, refer to the 3rd paragraph of the 
passage, “the face of his God was beginning to look more 
and more like the minister”.  

21.(5) Abhiram’s ‘fingers stilled to a halt’ it was the first 
reaction.  

22.(3) Audacity means rude or disrespectful behaviour; 
impudence hence insult is the word most similar in 
meaning.  

23.(2) Idea means a thought or suggestion as to a possible 
course of action hence understanding is the word most 
similar in meaning.  

24.(1) Gain means to obtain or secure (something wanted or 
desirable) hence loss is the word most opposite in 
meaning.  

25.(5) Dogged means ‘stubborn’ and ‘obstinate’ hence unsure is 
the word most opposite in meaning.  

26.(5)   27.(2) 
28.(4)   29.(3)   30.(1) 
31.(1) ? = 5612 – 1394 = 4218  
32.(5) ? = 4207 – 3007 = 1200. 
33.(4) ? = 21 × 7921 – 89 = 166252. 
34.(3) ? = 55.8 + 7.2 – 38.2 = 24.8. 
35.(2) ? = 589.57  
36.(2) 

 

 

 Therefore required ratio = 7 : 3. 

37.(3) 
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38.(3) (A + B + C)'s 1 day work 
 

= + + = 
 

1 1 1 1 1

2 10 12 15 8
 

 Therefore C's 1 day work = − =
1 1 1

8 10 40
 

 i.e. C can complete work in 40 days. 

39.(1) 

 

 

40.(4) Dimensions of the new shape formed = 30 × 20 × 10 
 Therefore required area of card board 
 = 2 (30 × 20 + 20 × 10 + 30 × 10) = 2 × 1100 = 2200 cm2. 
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41.(2) Required percentage 

 
−

=  
560 470

100 16%.
560

  

42.(3) 

 

 

43.(1) Required average 

 
+ +

= =
470 560 600

Rs.77.62 crores
21

 

44.(3) Required ratio 

 
+ + +

= = =
+ + +

30 40 100 120 290 29
.

60 120 60 100 340 34
 

45.(2) 

 

 

 So, Income of A 


= + =
15 50

50 Rs.57.5 crores.
100

 

46.(4) 

 

 

47.(4) Series is ×0.5 + 0.5, ×1 + 1, ×1.5 + 1.5, ×2 + 2, ×2.5 + 2.5 
 ? = 23 × 2.5 + 2.5 = 60. 

48.(4) Series is such that 
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49.(4) ? = 108 × 18 = 1944.  
50.(1) Series is +78, +65, +52, +39, +26 

Therefore, ? = 252 + 26 = 278.  
51.(3) Required cost price 

 =    =
100 100 100

990 Rs.600.
120 125 110

 

52.(4) Required number of selections 

 
 

=  = =12 2
10 1

12 11 2
C C 132.
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53.(1) 

 

 

54.(1) 

 

 

55.(3) ATQ 39 = 
 
− 

 

1
1

40
 × M.P. or M.P. = Rs. 40  

56.(4) 

 

 

57.(1) 

 

 

58.(2) Required time = L.C.M. of 8, 9, 10 and 15 = 360 sec.  
i.e., After 6 minutes they toll together.  

59.(3)   
60.(3) 

 

 

61.(1) ? = 700 + 99 = 799. 
62.(2) ? = 34.667 – 24.636 = 10.031. 
63.(1) ? = 3690.99 – 1634.53 = 2056.46 

64.(5) = =
3649.32

? 2.0274
1800

 

65.(4) ? = 52.5 × 16 + 22 = 862. 

66-70.   
66.(2)   67.(3) 
68.(2)   69.(1)   70.(4) 
71-75. 

 

 

71.(2)   72.(1) 
73.(3)   74.(4)   75.(3) 
76.(5) Both conclusion I and II follow.  
77.(1) Only conclusion I follows.  
78.(1) Only conclusion I follows.  
79.(3) Either conclusion I or II follows.  
80.(2) Only conclusion II follows.  

81-85. 

 

 

81.(3)   82.(2) 
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83.(1)   84.(1)   85.(4) 
86.(3)   87.(3) 8$, 7*  
88.(4)    
89.(5) B 8, E 7, Z 2, J 1, K 9, D 4  
90.(2) 
91-95. 

 

 

91.(2)   92.(3) 
93.(4)   94.(1)   95.(3) 
96-100. 

 

 

96.(2)   97.(1) 
98.(2)   99.(2)   100.(3) 
 


